
A	
  FACTORING	
  STRATEGY	
  DECISION	
  TREE:	
  	
  

	
  

	
  

	
  

Factor	
  out	
  GCF	
  and	
  
-­‐1	
  if	
  lead	
  coef>icient	
  

is	
  negative.	
  
Arrange	
  terms	
  in	
  

descending	
  order	
  by	
  
degree.	
  

	
  Look	
  at	
  what's	
  left	
  
inside	
  the	
  (	
  )	
  	
  

2terms?	
  

Difference	
  of	
  Squares	
  ?	
   A2  -­‐‑  B2  =  (A+B)(A-­‐‑B)	


Sum	
  of	
  Squares?	
   A2+B2	
  =	
  prime	
  

Difference	
  of	
  	
  Cubes?	
   A3  -­‐‑  B3  =  (A-­‐‑B)(A2+AB+B2)	


Sum	
  of	
  Cubes?	
   A3  +  B3  =  (A+B)(A2-­‐‑AB+B2)	


3	
  terms?	
  
x2+bx+c	
  ?	
  

=  (x+m)(x+n)  ;  	

m+n=b,  mn=c	


ax2+bx+c	
  ?	
  
ac	
  method	
  	
  /	
  FOIL	
  

4	
  terms?	
  
Factor	
  by	
  
Grouping?	
  

Factor	
  the	
  remaining	
  
binomial	
  factors.	
  

START	
  

How	
  Many	
  Terms?	
  

Identify	
  the	
  Type	
  …	
  	
  

Repeat	
  for	
  
each	
  

remaining	
  
factor.	
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